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Mg Ciil g ] DA AT R BT IR P s, A B EDTA  $i#t) 4°C, 5000rpm 5L
10min, BUEJERFN. (M. MERSR RS & B A T E, Warbl-80CHfF (RE#E

30d) JiE P E .

(2) HARES

WIRAAFRE (g): BURAR(mLN 1: 5710 MEE] GEFRENZ) 0.1g B4R, N 1mL 2B i
TUKB S, $RJG 10000g, 4°C &> 10min, B, Bk AR,

(3) HuMEAES:

WA HRE (104 4S): BEUEA (mL) & 500~1000: 1 fIECE] (i 500 4RI 1mL $2EX
WO, VKRR (Th% 200w, #H7= 3s, [HIFE 10s, EE 30 ¥X); 10000g, 4°CE5L» 10min, HX L
#, Bk B/,

HAEBIR:

1. R FETEA 30min, PETTEKE 734nm.

2. TAEMUOECHE: WEARTHGAR = —f, N 25mL 3R&50—, EHRAS 20min J5, #HHE,
WS/ GER, ECHAD

3. BER (F£ P BHHRRD

TEE s
PREGE (nL 50
Fedn Cul) 50
TAEM (uL) 950 950
FEAIRZ], 10min IIE 734nm WROEME, AA=A ZE-A TIE

R BAERTNE K WA A ZRBEESIOE, 5 A WENT 04, FHEHR

TORRE S el o
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BRI EARK:

1. DA HEFRERS:

ABTS [ HIEIERE (%) = (A ZH-A ME) +A 2 X100%

2. DUbRE Hh 2k BIRAFHIHTEALT] Trolox fHEHRIR:

FRUERIZR: y=1.4042x-0.0012 R2=0.9985 x:Trolox &% ( 1 mol/mL)
v EZEEAA

B E S PR AAE il 2 BRI HTE AL Trolox AUESRIEIRFEAN ABTS H HIZEERRAE . (1) HhEA
RS

MHEAEE )T (1 mol Trolox/g BEH) = (AA+0.0012) +1.4042 XV FE+(V FE+V BERAXW)=0.712X (A

A+0.0012) ~W

(2) BEAREAREH

M AEEST (1 mol Trolox/mg prot) = (AA+0.0012) +1.4042XV FE+(V BV FEM X Cpr) =0.712 X
(AA+0.0012) +Cpr

(2) ¥4t
MPiEALAEST (1 mol Trolox/104cell) = (AA+0.0012) +1.4042XV FE+ (V FE+V FEE X 4
BE M)

=0.712X (AA+0.0012) +~ #jE (5

(3) HBAAATE

BHIEALEE ) C(umol Trolox/mL) = (AA+0.0012) +1.4042 =0.712X (/\A+0.0012)

VEER: IMARRBURAR, 1mls VB SCPRESAR, S0nL; W: FEARRE, g5 Cpr: FEAREAWRE,
mg/mL
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